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‘ 100cm 50cm 5cm ‘ 100cm 50cm 5cm
TRXEE
1 Py 0.06 0.06 0.07 21
2 |AtBIFRKGAET 0.06 0.06 0.07 22
3 |defAlHEA (F8) 0.07 0.07 0.10 23
4 |defAIHEA (R) 0.07 0.07 0.11 24
5 |[EEHEA 0.06 0.06 0.08 25
6 |[EEREHEIA 0.07 0.08 0.09 26
7 |EEAIRKMGET 0.06 0.05 0.05 27
av9)—thERE
8 N0 E 0.06 0.06 0.07 28
9 |FEAIRKMEET 0.06 0.12 0.20 29
IEEREE
10 Rk HEE T (2 0.05 0.06 0.06 30
NATTEAE L
11 TKHET () 0.05 0.05 0.07 31
12 |FEfAl4EA 0.08 0.12 0.33 32
13 |FadafRlReskHtrE 0.05 0.06 0.07 33
14 Eﬁéiﬁ% 0.06 0.07 0.10 34
BHEHEEIS
15 AT 0.06 0.06 0.08 35
16 36
17 37
18 38
19 39
20 40

MAEHRIL REDMERES R,







